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o+ a- o+ g-

kN/m2 kN/m2 kN/m2 kN/m2
-90 -6418 -8405 -2714 | -11621
-45 -8789 | -14280 31283 | -48406
0 -7711 | -24775 54072 | -78638
45 9469 | -39412 -510 | -21916
90 -2408 | -13578 -6503 -8163
-90 5248 | -23331 1054 | -18222
-45 -2740 | -23177 12634 | -29831
+45 0 -8930 | -17093 38360 | -57714
45 -2124 | -23453 11548 | -30354
90 5392 | -21767 1340 | -17226
-90 4108 | -18496 7453 | -20122
-45 -2740 | -25974 15666 | -36791
-45 0 2639 | -40096 70237 | -99208
45 -2191 | -24009 17169 | -36806
90 3991 | -16894 7133 | -18802




